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Question Number : 1 Question Id : 5052124159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about the process of development of an individual?
Options:

1. It is uni -dimensional in nature

2. Itis influenced only by heredity of an individual

3. There is cultural diversity in the process of development

4. Development is only based on environmental factors

Question Number : 1 Question Id : 5052124159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 5052124160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions is an example of enhancing critical thinking in children?
Options :

1. Find out what people living around coastal areas usually eat and why?

2. Name 10 states of India.

3. Write tables from 2 to 10.

4. Memorize and recite the given poem.

Question Number : 2 Question Id : 5052124160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 5052124161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A stage theory of development explicitly emphasizes which of the following principles?
Options:

1. Continuity of development

2. Discontinuity of development

3. Cultural factors that influence development

4. Environmental factors in developmental process

Question Number : 3 Question Id : 5052124161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 5052124162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children's engagement with learning in schools is influenced by which of the following factors?
(i) Socialisation by the family

(ii) Peer relations



(iii) Cultural values

(iv) Self- esteem of the children
Options :

1. (iv)

2. (ii) and (iv)

3. (i), (i), (iii), (iv)

4. (i), (iii)

Question Number : 4 Question Id : 5052124162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 5052124163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget children in preoperational stage of development are able to do :
Options:

1. Reversible thinking

2. Make -believe play

3. Hierarchal classification

4. Conservation

Question Number : 5 Question Id : 5052124163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 5052124164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A young child can engage in symbolic play but cannot as yet take perspective of another person
and becomes easily upset by events he/ she cannot control . Which of the following stages given

by Jean Piaget applies to this child's level of development?
Options :

1. Sensori -motor



2. Pre -operational
3. Concrete operational

4. Formal operational

Question Number : 6 Question Id : 5052124164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 5052124165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Kohlberg's model of moral development has which of the following characteristics?

Options:

1. Stages of moral development are universal in nature.

2. There is continuity in development of moral thinking.

3. Moral development is not an orderly process; it is entirely dependent on environmental factors.

4. Moral development is dependent primarily on cultural values.



Question Number : 7 Question Id : 5052124165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 5052124166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, the zone of proximal development should be used for -
Options :

1. teaching and assessment

2. teaching only

3. assessment only

4. ascertaining fluid intelligence

Question Number : 8 Question Id : 5052124166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 5052124167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher gives a half done example to child while teaching a particular concept. According to Lev

Vygotsky's which of the following strategies is the teacher using?
Options:

1. Observational learning

2. Scaffolding

3. Conflict teaching

4. Conditioning

Question Number : 9 Question Id : 5052124167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 5052124168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The classroom environment of progressive classroom will NOT have which of the following

attitudes?

Options :

1. Involvement of children in decision making
2. Creation of a fear -free learning environment
3. Assessing individual differences of learners

4. Maintaining external discipline by the teacher

Question Number : 10 Question Id : 5052124168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 5052124169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is important that the teacher does not segregate children into fixed groups based upon

intelligence quotient (IQ) as -

Options :

1. it is inconvenient for teachers

2. it is inconvenient for schools

3. it does not allow children to complete among themselves across groups

4. the concept of IQ. is not stable and it also leads to labelling of children

Question Number : 11 Question Id : 5052124169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 5052124170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Haward Gardener's theory, it is important to have a variety of teaching modes

/strategies within a classroom because:
Options :

1. it helps exercise multiple intelligences
2. it helps improve general intelligence
3. it helps to create 'star' students

4. it helps improve practical intelligence.

Question Number : 12 Question Id : 5052124170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 5052124171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The two -word utterances often used by young children between 1.5 to 2.5 years of age are called:
Options :

1. Overextension of speech

2. Telegraphic speech



3. Neologism

4. Babbling

Question Number : 13 Question Id : 5052124171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 5052124172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"Men generally think with their heads and women with their hearts". This statement reflects:
Options :

1. gender discrimination

2. gender stereotypes

3. genetic differences between two sexes

4. gender constancy

Question Number : 14 Question Id : 5052124172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 5052124173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following assessment strategies would you NOT use in a progressive classroom?
Options :

1. Use of reflective journals by teachers

2. Self assessment and peer assessment

3. Reliance on norm -referenced assessment only

4. Creation of student portfolios

Question Number : 15 Question Id : 5052124173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 5052124174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By inclusion of the language and culture of the disadvantaged and marginalised groups within the

school curriculum a teacher can ensure -
Options :

1. equality in education

2. equity in education

3. sympathy for the underprivileged groups

4. vocational education specially for under privileged groups

Question Number : 16 Question Id : 5052124174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 5052124175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child in a classroom faces continual challenge in understanding mathematical operations

despite adequate support. This could be because of
Options :

1. Autism

2. Dyscalculia

3. Dysgraphia

4. Dyslexia

Question Number : 17 Question Id : 5052124175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 5052124176 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following will NOT BE an effective strategy for the education of a student with

hearing impairment within an inclusive institution

Options :

1. Use of subtitles while screening videos / movies

2. Use of expressive body movements and gestures in teaching

3. Supplementing oral communication with textual / visual form of communication.

4. Reliance on verbalisation as primary mode of communication

Question Number : 18 Question Id : 5052124176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 5052124177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Deep seated teacher prejudices about disadvantaged groups can often be revealed through an

analysis of which of the following classroom processes?



Options :

1. Seating arrangements done on the basis of gender, caste and class

2. Encouragement of 'mastery oriented' motivational style by the teacher

3. Making reasonable accommodations for children with learning difficulties by the teacher

4. Encouraging children to examine, resist and challenge the mechanical aspects of the education

system

Question Number : 19 Question Id : 5052124177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 5052124178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Creativity in a classroom can be encouraged by providing opportunities for students to :
Options :

1. join special achievement sections

2. encouraging original discovery and thinking



3. developing good test- taking skills

4. learning convergent thinking

Question Number : 20 Question Id : 5052124178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 5052124179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cognitive engagement of children within a constructive classroom can be facilitated by -
(i) Children's talk

(ii) Emotions of a teacher

(iii) Positive interpersonal relationships among children

(iv) Externally imposed discipline
Options :

1. (iii)



2. (iv)
3. (i), (ii), (iii)
4. (i), (ii),(iv)

Question Number : 21 Question Id : 5052124179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 5052124180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"The failure of children is often the failure of schools" which of the following supports this

Statement?
Options :
1. School exists so that they can appropriately discriminate among student's ability

2. Children fail because schools do not take into consideration different pace of learning of



students
3. Children fail because they do not comply with school requirements

4. Children fail because of the lack of ability and less I1Q.

Question Number : 22 Question Id : 5052124180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 5052124181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To be relevant and meaningful a concept needs to be -

Options :

1. taught using a proper definition

2. linked with the social context of the child's life

3. reproduced correctly from the textbook in the child's notebook

4. memorized well so that a student can take part in competition

Question Number : 23 Question Id : 5052124181 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 5052124182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The 'fear of failure ' needs to be discouraged in children within a classroom because -
Options :

1. Children's fears cannot be handled within a classroom by a teacher

2. School cannot take responsibility for emotional lives of children.

3. Failure and errors are a natural part of children's learning

4. Children who experiences fear are developmental failures

Question Number : 24 Question Id : 5052124182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 5052124183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is often argued that rewards may not be the best method of motivating learners because -
Options :

1. they decrease intrinsic motivation

2. they increase intrinsic motivation

3. they decrease extrinsic motivation

4. they decrease both intrinsic and extrinsic motivation

Question Number : 25 Question Id : 5052124183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 5052124184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Good problem solvers often have which set of the following characteristics?
Options :

1. Creativity, lack of response set, divergent thinking

2. functional fixedness, creativity, convergent thinking

3. Lack of response set, convergent thinking, creativity

4, Divergent thinking, functional fixedness, response set.

Question Number : 26 Question Id : 5052124184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 5052124185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Teacher beliefs about success / failures of students often influence learning and motivation of
students especially form the disadvantaged group. Which of the following statements is correct in

this context?

Options :

1. Teacher expectancy influences children's learning significantly

2. Teachers need to control student autonomy within the classroom

3. Teacher should encourage children to 'perform' better than others and complete well

4. Teacher need to train such students in strategies to 'avoid' failure at any cost.

Question Number : 27 Question Id : 5052124185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 5052124186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To be able to create a positive learning environment within the classroom, it is important that the

teachers -



Options :

1. follow the fixed time table well

2. are able to discipline children using awards and punishments
3. are able to include children's emotions within learning process

4. are able to discriminate between the 'abilities' of children and make groupings accordingly

Question Number : 28 Question Id : 5052124186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 5052124187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Should a teacher be considered as authority figure within the classroom, who cannot be

challenged?

Options:

1. Yes, it helps students gain the value of obedience and respect for teachers

2. Yes, only such a teacher can provide clear guidance and precise conceptual celerity to students

3. No, Students are afraid to ask questions from such teachers which results in lack of conceptual



clarity

4. No, teachers in any case are irrelevant for student learning in the digital age.

Question Number : 29 Question Id : 5052124187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 5052124188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Should 'wrong' answers of students be corrected by the teachers during class discussions?
Options :

1. Yes, children's errors should be immediately rectified

2. No, children should be encouraged to express themselves without fear of being incorrect

3. Wrong answers are always a reflection of lack of conceptual clarify and must be always

corrected

4. Children come to school to gain correct information, so their answers should be corrected

immediately.



Question Number : 30 Question Id : 5052124188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 5052124189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Siraj arranges apples in his kitchen in such a way that he has put 11 pairs of apples in the first row, 22 pairs
of apples in the second row and 33 pairs of apples in the third row. So how many apples does Siraj have in
his kitchen?

Options :
1. 66

5 132

3 123

Question Number : 31 Question Id : 5052124189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 66

5 132

3 123

Question Number : 32 Question Id : 5052124190 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

(1) All prime numbers are odd numbers.

(II) There are only five single digit prime numbers.
(HII) There are infinitely many prime numbers.

(IV) A prime number has only two factors.

Which of the above statements are true?
Options :
1 (1) and (1V)

(1), (ll1) and (V)

2.
5 () and (IV)
4 (Iand (IV)

Question Number : 32 Question Id : 5052124190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. (i) 3T (iv)
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Question Number : 33 Question Id : 5052124191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

School NSS unit has decided to distribute Ekg of sugar to every needy student. They got 28 % kg sugar from
a sponsor for this purpose. To how many sfudents this sugar can be distributed?

Options :
1. 38

2 39
3. 40

4, 36

Question Number : 33 Question Id : 5052124191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 38

2. 39

3. 40



4, 36

Question Number : 34 Question Id : 5052124192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true with respect to integers?
Statements A: Product of two numbers is always greater than or equal to the numbers.
Statements B: Sum of two numbers is always greater than or equal to both the numbers.

Options :
1. Both A & B are true

2 Both A & B are not true
3. Alis true but B is not true

4. Alis not true but B is true

Question Number : 34 Question Id : 5052124192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 5052124193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rinki has three plates of Jalebies: Plate A, Plate B and Plate C. Plate A has only one Jalebi, Plate B has five
Jalebies and Plate C has three Jalebies. She wants to put equal numbers of Jalebies in all the plates. Which
of the following statement is true?

Options :

1. Take two Jalebies from Plate B and put in Plate A
, Take one Jalebi from Plate B and one from Plate C and put both in plate A
3. All three plates cannot have equal number of Jalebies

4. Take one Jalebi from Plate Aand put in Plate C so that Plate B and Plate C have equal number of Jalebies.

Question Number : 35 Question Id : 5052124193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 5052124194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If LCM of 6 and 7 is half of the LCM of (x,y ) and if x is 12, what will be the value of y ?

Options:
1.6

2. 24

Question Number : 36 Question Id : 5052124194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.6

2. 24



Question Number : 37 Question Id : 5052124195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the best approximation of Lol

1.51

Options :

2 X7

1. 11

3 =7
2. 11

Question Number : 37 Question Id : 5052124195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. 12
3Ix8
4, 12

Question Number : 38 Question Id : 5052124196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jaya is studying in class 1. Teacher gave her some picture cards: Battery of a clock, orange, ice cream cone,
candle, book and a steel glass. Teacher asked Jaya to pick objects that are of similar shape. She picked the
following: battery of a clock, candle and steel glass. She has categorised them together as they have a
common attribute of

Options :
1 Height of the objects

» Cylindrical objects
3. Weight of the objects

4. Spherical objects

Question Number : 38 Question Id : 5052124196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 5052124197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the angle traced by hour hand of a correct clock between 6 am and 3 pm.

Options :
1. 90°

5 180°
3. 270°

4. 30°

Question Number : 39 Question Id : 5052124197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 90°

5, 180°



3, 2/0°

4, 30°

Question Number : 40 Question Id : 5052124198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A rectangle with sides (only in natural numbers) having area 24 cm? cannot have perimeter
Options :

1. 20 cm

2 22 cm
3. 2bcm

4. 28 cm

Question Number : 40 Question Id : 5052124198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4. 28 HEHRT

Question Number : 41 Question Id : 5052124199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A distance of 1 centimetre on a map represents 100 kilometres on the ground. If two cities are 3400
kilometres apart on the ground, then their distance on the map will be

Options :

1. 8 centimetres
2 9 centimetres
3. 8 and a half centimetres

4. 9 and a half centimetres

Question Number : 41 Question Id : 5052124199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 42 Question Id : 5052124200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inan 800 m race, Anup took 14 seconds to complate the first 100 metres and 2 seconds more for next 100
metres and 2 seconds more than two previous time for next 100 metres and so on. How much time Anup has
taken to finish the race?

Options :

1. 2 minutes 20 seconds
2. 2 minutes 48 seconds
3. 2 minutes 8 seconds

4. 1 minute 52 seconds

Question Number : 42 Question Id : 5052124200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 5052124201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify the next number by observing the digits in each number:
910, 821, 732, 643, —

Options:
1. 554
5 444

3 555

4. 454

Question Number : 43 Question Id : 5052124201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 554
> 444

3. 555

4. 454



Question Number : 44 Question Id : 5052124202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of the marks obtained by a child in five subjects is 74. He scored 70, 75 and 80 marks in three of
the subjects. What is the mean of the marks obtained by the child in the remaining two subjects?

Options:
7. 12

, 725

3 745

Question Number : 44 Question Id : 5052124202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
7. 12

, 725

3. 74.5

Question Number : 45 Question Id : 5052124203 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following are the details of the moming walk of Harshit, Amina and Joseph on a particular day

Name Starting Time | Ending time
Harshit 5.32am 6.49 am
Amina 527 am 6.37 am
Joseph 6.06 am 7.31am

Which among the following is correct.
Options :

1. Harshit and Amina walked for same duration.

» Joseph walked 8 minutes more than Amina.

3. Joseph walked 15 minutes more than Harshit.

4. Amina walked for the least duration.

Question Number : 45 Question Id : 5052124203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 5052124204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Achild is not able to differentiate squares from rectangles and assigns both of them to the same category.
According to Van Hiele theory of geometric reasoning, the student is at which level?

Options:

1. Axiomatic level

5 Analysis level

3. Deduction level

4. Visualisation level

Question Number : 46 Question Id : 5052124204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 5052124205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is the appropriate sequence for introducing the concept of addition of natural
numbers?

(A) Providing an experience with a contextual situation

(B) Represents the situation using symbols

(C) Verbalizing the situation

(D) Representing the situation through pictures

Options :
1. C d,b, a
> &¢d,b

3 & b,dc

4. g, d.a,hb

Question Number : 47 Question Id : 5052124205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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> a,¢db
3 & b d. 6

4. ¢ d,a,b

Question Number : 48 Question Id : 5052124206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework (2005), which of the following premises reflects the vision of
Excellent Mathematics Education

Options :

1. Ahigh quality mathematics education is the one in which no student fails.
» Mathematics Education should provide varied career options to the students.

3. All students can learn mathematics and that all student need to learn mathematics.

4. Success in Olympiads and competitive exams is indicative of excellent mathematics education.

Question Number : 48 Question Id : 5052124206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 5052124207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher told her students to maintain a daily mathematics journal to note down the situations where in they
use mathematics in their daily life. The objective is to:

Options:

1 Prepare the class for a forth coming inspection.
» Help students improve computational skills.

3. Help students connect classroom mathematics to that of the outside world.

4. To test students’ understanding of their daily life.

Question Number : 49 Question Id : 5052124207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 5052124208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Mathematics is not just Arithmetic’. Which of the following statements is the most appropriate in the given
context?

Options :
1. Only patterns of geometrical shapes should be taught at primary level.

, Algebra is exclusive of Arithmetic.
3. Geometry should be introduced as a separate section in mathematics textbook.

Ares of mathematics like shapes, spatial understanding, measurement, data handling must be given due
4. Place inmathematics curriculum.

Question Number : 50 Question Id : 5052124208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 5052124209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following concepts CANNOT be taught using Dienes blocks?

Options :

1 Numbers and place value

, Probability

3. Addition

4. Subtraction

Question Number : 51 Question Id : 5052124209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 5052124210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to write ‘six thousand sixty five' in the numeral form, a student wrote it as 665. The error
occurred because

Options :

1 the child does not have the understandings of numerals

> the student does not have an idea of cardinal and ordinal numbers

3. Itis an operational error.

4. the student has not understood the concept of place value.

Question Number : 52 Question Id : 5052124210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 5052124211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While solving a problem on addition, ‘234 +42', a student said aloud: “If it were 40 then it would be 244,
254,264, 274 but its 42, so it will be 274+2 = 276", therefore 234 + 42 is 276.
Which one of the following statements is correct for the strategy used by the student?

Options :

1 Oral computational strategies must be discouraged in mathematics classroom
5 The work of a teacher is increased while correcting problems solved by such methods
3. Such algorithms are not indicative of students conceptual knowledge

Use of Informal strategies in mathematics help a teacher to know the process of child's understanding of a
concept
4,

Question Number : 53 Question Id : 5052124211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 5052124212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Few students are confused with the words 'Quotient " and 'Remainder’. Which among the following is an
appropriate strategy to address the confusion of the students?

Options :

1 Demonstration of many division problems on Blackboard by the teacher.
, Provide worksheets to students and ask them to practice it.

Use concrete materials and ask students to group them in different ways and observe the number of groups
3. and tems outside the groups.

4. Writing the definition of quotient and remainder at least 20 times.

Question Number : 54 Question Id : 5052124212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 5052124213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a feature of the Summative Assessment in mathematics?
Options:

1. It is term end examination.

» Itis used for grading, promotion and placement.
3. Itfocuses on diagnosing the strength and weakness of the children.

4. Itis product oriented rather than process oriented.

Question Number : 55 Question Id : 5052124213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 5052124214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is the most desirable feature of mathematics teaching?
Options :

1 Present an algorithm to the class and direct students to memorise it.
» Create and pose challenging and meaningful problems for the students.
3. Instruct students to solve the problem as per the model problem solved in the textbook.

4. Ask students to solve problems on the blackboard.

Question Number : 56 Question Id : 5052124214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 5052124215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents correct matching set?

(a) Misconception

(b) Representation 4<5

(c) Estimation SR
-4 - =-
(d) Comparison 48 X 52 = 2500
Options :

1. (a,iii), (b, i), (c, iv), (d , ii)

5> (@, iv), (b, i), (c, iii), (d, i)

3. (@, iii), (b, i), (c, i), (d , iv)

4. (@,iv), (b, i), (c, iii), (d, ii)

Question Number : 57 Question Id : 5052124215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 (&iii), (b,i), (c,iv), (d,ii)

, (a,iv), (bjii), (ciiii), (d,)

3. (aiiii), (b,ii), (c,i), (d,iv)

4. (@,v), (b,i), (c,iii), (d,ii)

Question Number : 58 Question Id : 5052124216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing the concept of multiplication Ms Neetu, a class Il teacher, started with word problems such
as “There are 4 members in a family and if each member requires 3 rotis for lunch, how many rotis are
required? What is the objective of using this type of word problems to introduce the concept?

Options :
1 To improve the communication skills of children
5 To develop the ability to connect real life situation with mathematical problems.

3. To integrate mathematics and language classes

4. To focus only on developing mathematical language among children



Question Number : 58 Question Id : 5052124216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 5052124217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following are correct with respect to the nature of mathematics?

a : Mathematics has its own language.
b : There is always one solution to any mathematical problem.
¢ : Mathematical concepts are abstract.

Options :
1. aandb

> aandc

3 bandc



4 a,bandc

Question Number : 59 Question Id : 5052124217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 5052124218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Visualization and Representations' are important processes to be ensured in mathematics teaching at
primary level because

Options :
1. they have implications for teaching algebra and geometry in higher mathematics.

, these are the only skills to be taught at primary level .

3. these are the only ways to assess learning in mathematics.



4. they make the teacher’s work easy.

Question Number : 60 Question Id : 5052124218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

Section Id : 505212138
Section Number : 3

Section type : Online
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Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and
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Clear Response:



Sub-Section Number : 1
Sub-Section Id : 505212246

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5052124219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kuduk' is the spoken language of the people of
Options:

1. Assam

2. Arunachal Pradesh

3. Mizoram

4. Jharkhand

Question Number : 61 Question Id : 5052124219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 62 Question Id : 5052124220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your school is located at Y; Although your school is just opposite but
you cannot go straight because of the busy highway in between. So, you first go 100m due north,
then cross a 75m long subway which is due west and finally reach your school at Y which is 100m

due south. With respect to school Y your house at X is
Options :

1. 100 M due north

2. 100 m due south

3.75 m due east

4.75 m due west

Question Number : 62 Question Id : 5052124220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 5052124221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A train started from Nagarcoil on 5th June 2020 at 04:15 hours and reached Gandhidham on 7th
June 2020 at 03:15 hours. The distance covered by the train is 2640 km. the average speed of the

train during this journey in km/h is nearly
Options :

1.52

2.54

3.56

4. 58

Question Number : 63 Question Id : 5052124221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 5052124222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The best period for the people of Bihar to start bee - keeping (litchi) is
Options :

1. July to September



2. October to December
3. January to March

4. April to June

Question Number : 64 Question Id : 5052124222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 5052124223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Velcro is used to stick together many things. Who among the following got inspiration from nature

to make Velcro?
Options:

1. Isaac Asimov
2. Ronald Ross

3. George Mestral

4. Gregor Mendel



Question Number : 65 Question Id : 5052124223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 5052124224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a union territory of India?
Options :

1. Arunachal Pradesh

2. Manipur

3. Meghalaya

4. Jammu and Kashmir

Question Number : 66 Question Id : 5052124224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 5052124225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following states of our country has mines of aluminium?
Options :

1. Odisha

2. Assam

3. Bihar

4. West Bengal

Question Number : 67 Question Id : 5052124225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 5052124226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Braille script, rows of raised dots are made on a thick paper. This script is based on
Options :

1.5 dots

2.6 dots

3.7 dots

4. 8 dots

Question Number : 68 Question Id : 5052124226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 5052124227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Many steps are needed to grow union crop. Consider the following steps and select the option in

which these steps are given in correct order

A Digging to loosen the soil

B. Cutting the dried leaves from the top of the onion

C. Sowing of seeds

D. Weeding

E. Plucking the onion out
Options :
1.A,C,D,E,B
2.A,D,C,B,E
3.A,C,D,,B,E

4. A,D,C,E,B

Question Number : 69 Question Id : 5052124227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

., A,C,D,E,B

, A,D,C,B,E

;s A,C,D,B,E

. A,D,C,E,B

Question Number : 70 Question Id : 5052124228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There is a place in our country called cold desert. This area is high, dry and flat. This areais in
Options :

1. Shillong (Meghalaya)

2. Darjeeling (West Bengal)

3. Shimla (Himachal Pradesh)

4. Leh (Laddakh)

Question Number : 70 Question Id : 5052124228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 5052124229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From the following fruits and vegetables select those which have seeds inside.

Bitter-gourd,Cucumber,Chikoo, Lady finger, Onion, Pear, potato, Tomato
Options:

1. Cucumber, Chikoo, Lady finger, Onion, Pear

2. Butter-gourd, Cucumber, Chikoo, Lady finger, Potato, Tomato

3. Butter-gourd, Cucumber, Chikoo, Lady finger, Pear, Tomato

4, Bitter-gourd, chikoo, Ladyfinger, Tomato, Potato

Question Number : 71 Question Id : 5052124229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 5052124230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following animals looks like a bear but is not. This animal spends 17 hours a day
sleeping while hanging upside down on a tree branch and eats the leaves of the same tree. The

average life of this animal is almost 40 years and in their time at moves around only eight trees
Options :

1. Chimpanzee

2. Langur

3. Panda

4. Sloth

Question Number : 72 Question Id : 5052124230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 5052124231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the locations in column I with the correct descriptions of the common houses found in most

villages of that location given in column II

Column I Column II

A. Assam I Houses made of stone/wood with sloping roofs

B. Laddakh II Houses made of stones with wooden floor and wooden flat ceiling

C. Manali (Himachal Pradesh) III Elevated houses made on bamboo pillars

D. Rajasthan IV Houses of snow (igloo)

V Mud houses having roofs made of thorny bushes
Options :

1. A-1I1, B-I, C-1I, D-V

2. A-V, B-1V, C-1I, D-I

3. A-111, B-1I, C-I, D-V

4. A-111, B-1, C-1V, D-V

Question Number : 73 Question Id : 5052124231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 5052124232 Question Type : MCQ Option Shuffling : Yes Is

Our earth is round like a globe. There is actually no 'Up' or 'Down' on the earth and it is just

relative. We the people of India, actually stand on the surface of earth "upside -down" in relation

to the people of
Options :

1. Algeria

2. Argentina

3. Australia

4. Austria

Question Number : 74 Question Id

: 5052124232 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 5052124233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to get more yield from his fields a farmer is growing paddy crops over and over again

using excess of fertilizer and pesticides. This practice will make the soil of his fields
Options:

1. more useful for the paddy crops only

2. fertile for other crops also

3. fit for ploughing and sowing seeds

4. ultimately unfit for growing any crop

Question Number : 75 Question Id : 5052124233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 5052124234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sets correctly represent four of the six themes suggested in the EVS

syllabus as prescribed by NCF 2005?

Options :

1. Plants, Animals , Family and Food, Materials

2. Family & Friends, Food, Water and Travel

3. Thing We make and do, Food, Materials and Plants

4. Work and play, Food , Materials and Travel

Question Number : 76 Question Id : 5052124234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 5052124235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the good practice of making students' portfolios ?

(A) Selecting work to be included in the portfolio on the basis of a specific reason
(B) Selecting all items of work of a student to be put in portfolio
(C) making child select her/his work to be put in portfolio

(D) Collecting range of student's work over a period of time
Options :

1.A,B&C

2.A&D

3.A,B&D

4. A, C&D

Question Number : 77 Question Id : 5052124235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 5052124236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to NCF 2005, which of the following is true about syllabus of EVS?

Options :

1. EVS syllabus is presented as integration of Environmental Education and social science
2. EVS syllabus is a thematical integration of social science and Environmental Education
3. EVS syllabus is integration of science and Environmental Education

4. EVS syllabus is integration of Environmental Education, social science and science

Question Number : 78 Question Id : 5052124236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 5052124237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher asks her/his learners to conduct a survey on different fuels used in the
neighbourhood. Which of the following process skills can be developed during the conduction of

this survey

Options :

1. Hypothesis making

2. Critical thinking

3. Recording and listening skills

4, predicting and reporting skills

Question Number : 79 Question Id : 5052124237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 5052124238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the essential elements of continuous assessment for learning?

(a) it is used for passing judgement on the child

(b) it has to be built into the learning situations

(c) it provides scope for teachers to adjust their teaching-learning methodology

(d) it provides no scope for learners to monitor and improve their work
Options :

1.a,b&c

2.3, c&d

3.0nlyb&c

4.0nly a &d

Question Number : 80 Question Id : 5052124238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 5052124239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kunal invited a local artisan to his school for a workshop on tie and dyeing of clothes. The purpose

of inviting local artisan are the following EXCEPT

Options :

1. learners appreciate her skills and knowledge

2. learner appreciate the technology involved in the tie and dyeing
3. helping students learn local language

4. provide hands-on experience of doing tie and dye

Question Number : 81 Question Id : 5052124239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 5052124240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meher has few students in class who have been displaced from their native place due to a natural

disaster and have problems adjusting in school environment. As EVS teacher you would
Options:

1. be patient so that they naturally adjust with time.

2. make a group of only displaced students and give them group work.

3. encourage them to accept displacement as a fact immediately and move on.

4. help them interact more with other students and share their stories.

Question Number : 82 Question Id : 5052124240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 5052124241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rational for using 'Community' as a resource is that

Options :

1. it helps accept all knowledge in the community uncritically

2. helps popularize and disseminate local knowledge without questioning it

3. community itself has a stake in their children's learning and needs to be involved

4. community if not involved will be offended

Question Number : 83 Question Id : 5052124241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 5052124242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aarohi asked her learners to draw a map of their classroom. This activity will help in developing
Options:

1. skills of predicting and calculating

2. recording data

3. understanding of relative positions and orientations

4. skill of drawing landscapes

Question Number : 84 Question Id : 5052124242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST} 7 ST T 51 0 Sl 31 AT e 281 3| T Ty Teehrl oo e 2

Options :

r R =
1 HedlHHIA 3ﬁ-{ TTOTAT F ShigTeA

L= |
), SRS AfeEs

5, AT SR AU AT "

NgvHl i = T T
4.



Question Number : 85 Question Id : 5052124243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a guiding principal for curriculum development
Options :

1. Connecting school knowledge to outside world

2. Ensuring that learning shifts from rote methods

3. making examination more easier

4. ensuring curriculum so that it goes beyond textbooks

Question Number : 85 Question Id : 5052124243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 5052124244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
While assessing learners in EVS our has to avoid

Options :



1. using variety of ways of collecting information.
2. immediate recording of event for rich accurate details.
3. using group work as basis of assessment.

4. using technical language during assessment.

Question Number : 86 Question Id : 5052124244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 5052124245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a story in class V about Ronald Ross who received Nobel Prize for medicine in 1902 for
discovery that mosquitoes spread malaria while working in a hospital in Secundarabad. He details
in his own words how he spent time chasing mosquitoes, cutting open mosquito's stomach and

observing it under microscope. What would be the purpose of including Ronald Ross's story in EVS
(a) to help learners understand about scientific processes

(b) to inspire learners to write stories



(c) to encourage learners to collect more exciting stories about various discourses

(d) to appreciate history of science
Options :

1.a,b,c

2.a,¢d

3.b,cd

4.3,b,d

Question Number : 87 Question Id : 5052124245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 5052124246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhusan wanted to integrate the theme 'Travel' in his language class of class II. What would you

suggest as the most suitable resource for his classroom transaction
Options :

1. audio-visual clip on travel

2. Poem on travel

3. Models on modes of travel

4. Children's own experiences of travel

Question Number : 88 Question Id : 5052124246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 5052124247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A learner in your EVS class shares her observation about a beggar boy in her neighbourhood and



wants to know why his parents do not send him to school. How would you respond to the leaners

as a teacher?

Options :

1. listen but stick to your lesson plan

2. Explain condition of beggars all over India

3. Discuss the issue separately with the learner

4. acknowledge her observation and discuss it in whole class

Question Number : 89 Question Id : 5052124247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 5052124248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Games and riddles are important part of EVS teaching and learning as
Options:

1. they provide break from classroom monotony



2. they provide fun time for learners
3. they allow learners to discover patterns on their own

4. they are easy to transact in classroom

Question Number : 90 Question Id : 5052124248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 505212139
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 505212247

Question Shuffling Allowed : Yes

Question Id : 5052124249 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by selecting the correct / most
appropriate options.

1. Schools might have been shut, but children continued
their learning even during the pandemic Despite the
inequalities and digital divide, the 15% Annual Status of
Educations Report (ASER 2020) Rural reflected the
resilience shown towards learning as 11% of all rural
families” bought a new phone since the lockdown began
and 80% of these were smart phones. Also more children
joined government schools than private schools.

While the closure of schools since March 2020 affected

campus academic activities the good news was that 70%

of the community came out to help the school support

system. The data demonstrated that almost three quarters
of all children received some form of learning support
from family members. Notably, even among children
whose parents have not studied beyond primary school,
family members provided support with older siblings
also playing an important role in helping the yvounger
children learn.

3. The report called for developing a digital pedagogy and
to priotize efforts to break the digital divide. 56%b of
households with children enrolled in government schools
have smartphones while 74% of households who send

their children to private schools have smartphones.

4. Citing another example of the existing divide the report
said children in private schools were much more likely to
have accessed online resources than those in government
schools. For example 28.7% of children enrolled in
private schools had watched videos or other pre-recorded
content online, as compared to government school
students.

5. Access to learning material and activities too need
attention as only 33.5% of government school children
received materials or activities, as compared to 40.6%
children in private schools. In fact, in states like
Rajasthan (21.5%), UP (21%) and Bihar (7.7%b) less than
a quarter of all children had received any material.
Whatsapp emerged as the must preferred medium via
which the children got materials/activities.

I

Sub questions

Question Number : 91 Question Id : 5052124250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How did parents in rural areas respond to the loss of

studies suffered by their children during it the pandemic?
1. Thev worked harder and longer to earn more money.

They decided to wait till the sitnation improved.

More than 1/10 of rural parents bought phones for

their children.

4. Many parents decided to withdraw their children
from school.

:

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5052124251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to fill in the blank.
During the pandemic came forward to
provide some form of learning to the students.

1. college students

2. NGOs

3. family members

4. retired teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5052124252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct option
The ASER (2020) called for

1. adequate financial assistance to the marginalized
sections of the society to bridge the digital divide.
opening of special schools for the poor students.
free books and free meals for the needy.
developing a new digital pedagogy to bridge the
digital divide.

s 1

P

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5052124253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which paragraph/s show/s that private school students had
better access to technology than government school
students?

Para 1 and 2
Para 1 and 3
Para 3 and 4
Para 2 and 4

La b =

-

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5052124254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following pieces of information is not

supported by evidence in para 57

1. Private school students had better access to smartphones

than students from government schools.

More students from U.P than Rajasthan received

material or activities.

Bihar received less material and activities as compared

to Rajasthan and UP .

4. WhatsApp was instrumental in supplying study material
to students.

I

L

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5052124255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most similar in meaning the
word, ‘demonstrated’ as used in the passage (para 2)?

provided
showed
clarified
underlined

ot bt

e

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5052124256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in meaning
to the word, ‘preferred’ as used in the passage (para 5)?
1. disliked
rejected
ignited
required

w1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5052124257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?
More students joined government schools than public
schools
1. Conjunction
Pronoun
Adjective
Adverb

L |2

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5052124258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?
The rain had a good affect
(a) (b)
on the farmer’s field
(c) (d)

1. (d)
2.(c)
3.(a)
4.(b)

Options :
1.1
2.2
3.3
4.4

Question Id : 5052124249 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by selecting the correct / most
appropriate options.

1. Schools might have been shut, but children continued
their learning even during the pandemic Despite the
inequalities and digital divide, the 15% Annual Status of
Educations Report (ASER 2020) Rural reflected the
resilience shown towards learning as 11% of all rural
families” bought a new phone since the lockdown began
and 80% of these were smart phones. Also more children
joined government schools than private schools.

While the closure of schools since March 2020 affected

campus academic activities the good news was that 70%

of the community came out to help the school support

system. The data demonstrated that almost three quarters
of all children received some form of learning support
from family members. Notably, even among children
whose parents have not studied beyond primary school,
family members provided support with older siblings
also playing an important role in helping the yvounger
children learn.

3. The report called for developing a digital pedagogy and
to priotize efforts to break the digital divide. 56%b of
households with children enrolled in government schools
have smartphones while 74% of households who send

their children to private schools have smartphones.

4. Citing another example of the existing divide the report
said children in private schools were much more likely to
have accessed online resources than those in government
schools. For example 28.7% of children enrolled in
private schools had watched videos or other pre-recorded
content online, as compared to government school
students.

5. Access to learning material and activities too need
attention as only 33.5% of government school children
received materials or activities, as compared to 40.6%
children in private schools. In fact, in states like
Rajasthan (21.5%), UP (21%) and Bihar (7.7%b) less than
a quarter of all children had received any material.
Whatsapp emerged as the must preferred medium via
which the children got materials/activities.

I

Sub questions

Question Number : 91 Question Id : 5052124250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How did parents in rural areas respond to the loss of

studies suffered by their children during it the pandemic?
1. Thev worked harder and longer to earn more money.

They decided to wait till the sitnation improved.

More than 1/10 of rural parents bought phones for

their children.

4. Many parents decided to withdraw their children
from school.

:

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5052124251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to fill in the blank.
During the pandemic came forward to
provide some form of learning to the students.

1. college students

2. NGOs

3. family members

4. retired teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5052124252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct option
The ASER (2020) called for

1. adequate financial assistance to the marginalized
sections of the society to bridge the digital divide.
opening of special schools for the poor students.
free books and free meals for the needy.
developing a new digital pedagogy to bridge the
digital divide.

s 1

P

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5052124253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which paragraph/s show/s that private school students had
better access to technology than government school
students?

Para 1 and 2
Para 1 and 3
Para 3 and 4
Para 2 and 4

La b =

-

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5052124254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following pieces of information is not

supported by evidence in para 57

1. Private school students had better access to smartphones

than students from government schools.

More students from U.P than Rajasthan received

material or activities.

Bihar received less material and activities as compared

to Rajasthan and UP .

4. WhatsApp was instrumental in supplying study material
to students.

I

L

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5052124255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most similar in meaning the
word, ‘demonstrated’ as used in the passage (para 2)?

provided
showed
clarified
underlined

ot bt

e

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5052124256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in meaning
to the word, ‘preferred’ as used in the passage (para 5)?
1. disliked
rejected
ignited
required

w1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5052124257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?
More students joined government schools than public
schools
1. Conjunction
Pronoun
Adjective
Adverb

L |2

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5052124258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?
The rain had a good affect
(a) (b)
on the farmer’s field
(c) (d)

1. (d)
2.(c)
3.(a)
4. (b)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 505212248

Question Shuffling Allowed : Yes

Question Id : 5052124259 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions that
follow by selecting the correct / most appropriate options.

People are often unreasonable , illogical and self-centred:
Forgive then anyway
If you are kind, people may accuse vou of selfish motives:
Be kind anyway.
If you are successful, vou will win some false friends and true enemies
Succeed anyway.
If vou are honest and frank, people may cheat you;
Be honest and frank anyway
What you spend years building , someone could destroy overnight;
Build anyway.
If you find severity and happiness. they may be jealous;
Be happy anyway.
The good you do today, people will often forget tomorrow:
Do good anyway.
Give the world the best you have , and it may never be enough;
Give the world the best you’ve got anyway.

Sub questions

Question Number : 100 Question Id : 5052124260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How according to the poet should we respond to people
who unjustifiably accuse us of selfishness?

1. Keep such people at bay

2. Give them a befitting replay

3. Thank them for their comments.
4. Be kind to them

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5052124261 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



When someone destroys what it has taken us years to build,
we should

make him realise his mistake.
dismiss the person as a fool.
chastise the person.

get busy building it again.

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5052124262 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct option to fill in the blank

The poet’s reaction to what is bad, wrong and evil is guided
by considerations

social.

moral.

practical.

cultural.

L O R

>

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5052124263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the option which according to the poet mentions
common weakness from which humans suffer,
People are often

unreasonable, illogical, and unkind.
cruel, illogical and unreasonable.
unreasonable , self-central and illogical.
unreasonable, illogical and disruptive.

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5052124264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in the phrase,
‘false friends’ (Line 5)

Simile
Alliteration
Metaphor
Irony

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5052124265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the literary device used in the poem
1. Simile

Metaphor

Repetition

Hyperbole

w1

i

Options :
1.1
2.2
3.3
4.4

Question Id : 5052124259 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Directions: Read the passage given below and answer the questions that
follow by selecting the correct / most appropriate options.

People are often unreasonable , illogical and self-centred:
Forgive then anyway
If vou are kind, people may accuse vou of selfish motives:
Be kind anyway.
If you are successful, vou will win some false friends and true enemies
Succeed anyway.
If vou are honest and frank, people may cheat you:
Be honest and frank anyway
What you spend years building , someone could destroy overnight;
Build anyway.
If vou find severity and happiness, they may be jealous;
Be happy anyway.
The good you do today. people will often forget tomorrow:
Do good anyway.
Give the world the best you have , and it may never be enough;
Give the world the best you've got anyway.

Sub questions

Question Number : 100 Question Id : 5052124260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How according to the poet should we respond to people
who unjustifiably accuse us of selfishness?

1. Keep such people at bay

2. Give them a befitting replay

3. Thank them for their comments.
4. Be kind to them

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 5052124261 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When someone destroys what it has taken us years to build,
we should

make him realise his mistake.
dismiss the person as a fool.
chastise the person.

get busy building it again.

ol o

>

Options :
1.1
2.2
3.3

4.4

Question Number : 102 Question Id : 5052124262 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the correct option to fill in the blank

The poet’s reaction to what is bad, wrong and evil is guided
by considerations

social.

moral.

practical.

cultural.

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5052124263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option which according to the poet mentions
comumon weakness from which humans suffer,
People are often

unreasonable, illogical, and unkind.
cruel, illogical and unreasonable.
unreasonable . self-central and illogical.
unreasonable, illogical and disruptive.

L R O R

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5052124264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the figure of speech used in the phrase,
‘false friends’ (Line 5)

Simile
Alliteration
Metaphor
Irony

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5052124265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the literary device used in the poem
1. Simile
2. Metaphor
3. Repetition

Hyperbole

o

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 505212249

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 5052124266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Riddles, puzzles crosswords etc. are included in English textbooks to
1) develop critical thinking ability in students.
2) develop the ability to communicate fluently.
3) help them understand the textbook with some fun element.
4) make the classroom environment lively and friendly.

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5052124266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Riddles, puzzles crosswords etc. are included in English textbooks to
1) develop critical thinking ability in students.
2) develop the ability to communicate fluently.
3) help them understand the textbook with some fun element.
4) make the classroom environment lively and friendly.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5052124267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student of your class has visual deficiency, as a language teacher vou will
1) give that child a special treatment with sympathy.
2) excuse the child to perform lower than others.
3) help and ask his'her peers to assist in routine class work.
4) treat the child normally and support through audio material.

Options :

1.1



2.2
3.3
4.4

Question Number : 107 Question Id : 5052124267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student of your class has visual deficiency, as a language teacher vou will
1) give that child a special treatment with sympathy.
2) excuse the child to perform lower than others.
3) help and ask his/her peers to assist in routine class work.
4) treat the child normally and support through audio material.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5052124268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher while assessing learners at primary stage should focus the moston
1) formal weekly test and record them in report card.
2) term end exam that help to declare pass or fail.
3) using variety of ways to collect information about learner’s performance and sharing it with learners and

their parents.
4) giving assignments followed by classwork and homework every day to bring variety and increase language
practice.
Options :
1.1
2.2
3.3

4.4



Question Number : 108 Question Id : 5052124268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher while assessing learners at primary stage should focus the moston
1) formal weekly test and record them in report card.
2) term end exam that help to declare pass or fail.
3) using variety of ways to collect information about learner’s performance and sharing it with learners and

their parents.
4) giving assignments followed by classwork and homework every day to bring variety and increase language
practice.
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5052124269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct about using a big book with large print and colourful illustrations?
1) It provides a creative and artistic learning environment which children respond to.

2) It provides a child-centred environment where abstract concepts are symbolised within the text and images.
3) It provides context for literacy practice as well as linguistic acquisition.

4) Tt is better than the course books and graded readers as students are free from textual exercises
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5052124269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT correct about using a big book with large print and colourful illustrations?
1) It provides a creative and artistic learning environment which children respond to.

2) It provides a child-centred environment where abstract concepts are symbolised within the text and images.
3) It provides context for literacy practice as well as linguistic acquisition.

4) Tt is better than the course books and graded readers as students are free from textual exercises
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5052124270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children come to school with the knowledge of one or more than one language. Knowledge of more than one language
helps children in

1) learning other languages and new subjects with ease.
2) understanding cross-culture and customs of the nation.
3) being sensitive and not mingling with other students.

4) learning the script of those languages to score high.
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5052124270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Children come to school with the knowledge of one or more than one language. Knowledge of more than one language
helps children in

1) learning other languages and new subjects with ease.
2) understanding cross-culture and customs of the nation.
3) being sensitive and not mingling with other students.

4) learning the seript of those languages to score high.
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5052124271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While going through the notebooks of class IIT students, the language teacher noticed some errors and realised that

1) children commits errors as they are careless.
2) children are committing and repeating errors because she is not punishing them for it.
3) children’s errors are natural and indicators of their learning.

4) asa teacher she should ignore such errors as they are insignificant in learning
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5052124271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



While going through the notebooks of class IIT students, the language teacher noticed some errors and realised that

1) children commits errors as they are careless.
2) children are committing and repeating errors because she is not punishing them for it.
3) children’s errors are natural and indicators of their learning.

4) asa teacher she should ignore such errors as they are insignificant in learning
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5052124272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky children learn through social interaction with peers. As a language teacher one should

1) plan your lesson where they can sit individually and work to avoid interaction and their talks in the class,
2) plan lesson that do not include play and discussion to avoid interactions.
3) use incentives, reward and punishment to maintain discipline in the class.

4) plan for pair and group work so that they can interact with peers.
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5052124272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Vygotsky children learn through social interaction with peers. As a language teacher one should

1) plan your lesson where they can sit individually and work to avoid interaction and their talks in the class,
2) plan lesson that do not include play and discussion to avoid interactions.
3) use incentives, reward and punishment to maintain discipline in the class.

4) plan for pair and group work so that they can interact with peers.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5052124273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the practices is most appreciable by a language teacher?

1) Students who are fluent speakers of English should be considered as the role models in the class.
2) Make some strict classroom agreements and ensure that it should be followed in true spirit.

3) Ensure that all students in her class feel accepted and valued with whatever language, social and cultural
background he/she comes from.

4) Ensure that children especially coming from disadvantaged background have to work harder in language class.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5052124273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the practices is most appreciable by a language teacher?

1) Students who are fluent speakers of English should be considered as the role models in the class.
2) Make some strict classroom agreements and ensure that it should be followed in true spirit.

3) Ensure that all students in her class feel accepted and valued with whatever language, social and cultural
background he/she comes from.

4) Ensure that children especially coming from disadvantaged background have to work harder in language class.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5052124274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Indian classrooms are multilingual classrooms. Keeping the multilingual context which one of the following is most
appropriate about multilingual classroom at primary stage?

L) The teacher should focus on school language ignoring the language of learners.
2) The home language/mother tongue should be spoken at home and not in the school.

3) India should have monolingual schools and the learers should be admitted as per the preference of their

language.
4) The teacher should encourage learners to communicate and express themselves in their own language and
respect their views.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5052124274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Indian classrooms are multilingual classrooms. Keeping the multilingual context which one of the following is most
appropriate about multilingual classroom at primary stage?

L) The teacher should focus on school language ignoring the language of learnets.
2) The home language/mother tongue should be spoken at home and not in the school.

3) India should have monolingual schools and the leamers should be admitted as per the preference of their

language.
4) The teacher should encourage learners to communicate and express themselves in their own language and
respect their views.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5052124275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher should give tasks that can be done in pair/group work because
1) children will be able to finish their work quickly when working together.
2) it minimises teacher’s work as individual attention is difficult than group observation.
3) children support and learn from each other in such meaningful tasks.

4) it encourages competition for scoring marks amongst them.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5052124275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A language teacher should give tasks that can be done in pair/group work because
1) children will be able to finish their work quickly when working together.
2) it minimises teacher’s work as individual attention is difficult than group observation.
3) children support and learn from each other in such meaningful tasks.

4) it encourages competition for scoring marks amongst them.
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5052124276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher notices that a child in her class is having difficulty in reading and comprehending language. This could be a
symptom of

1) Dyscalculia
2) Dysgraphia
3) Dyspraxia
4) Dyslexia

Options:

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 5052124276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher notices that a child in her class is having difficulty in reading and comprehending language. This could be a
symptom of

1) Dyscalculia
2) Dysgraphia
3) Dyspraxia
4) Dyslexia

Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 5052124277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is correct about conducting assessment at primary stage?
1) Assessment should be conducted at the end of each term.
2) Assessment should be a state based process and must be conducted centrally by the state.
3) Assessment should be school based and an inbuilt process of teaching learning.

4) Assessment should be conducted only once in a year.
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5052124277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following statements is correct about conducting assessment at primary stage?
1) Assessment should be conducted at the end of each term.
2) Assessment should be a state based process and must be conducted centrally by the state.
3) Assessment should be school based and an inbuilt process of teaching learning.
4) Assessment should be conducted only once in a year.
Options :
1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 5052124278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which one of the following do you consider as a/an authentic materials in a language classroom?
1) Textbook
2) Workbook
3) Newspaper
4) Supplementary book
Options :
1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 5052124278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following do vou consider as a/an authentic materials in a language classroom?
1) Textbook
2) Workbook
3) Newspaper
4) Supplementary book



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5052124279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V asks her students to put their drawings, poems, stories, worksheets and other material developed by
them in that term in a specified folder. These folders of the students can be called as

1) Self-reporting
2) Anecdotal records
3) Portfolio

4) Observation and collections
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5052124279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V asks her students to put their drawings, poems, stories, worksheets and other material developed by
them in that term in a specified folder. These folders of the students can be called as

1) Self-reporting
2) Anecdotal records
3) Portfolio

4) Observation and collections
Options :
1.1
2.2



3.3
4.4

Question Number : 120 Question Id : 5052124280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

You believe that human beings are bom with the capacity to acquire language. Your belief aligns with which of the
following notions /theories?

1) Operant conditioning

2) Nativism

3) The language acquisition device
4) Reinforcement

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5052124280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

You believe that human beings are bom with the capacity to acquire language. Your belief aligns with which of the
following notions /theories?

1) Operant conditioning

2) Nativism

3) The language acquisition device
4) Reinforcement

Options :
1.1
2.2
3.3
4.4
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Sub questions

Question Number : 121 Question Id : 5052124282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U T T I i e e 2
. 7 O T T e
2. EHIT W & &9 2 7|
3. gEuTd A T
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Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 123 Question Id : 5052124284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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4.4

Question Number : 136 Question Id : 5052124298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2
3.3

4.4

Question Number : 137 Question Id : 5052124299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 5052124299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5052124300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5052124300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5052124301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5052124301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TaTr ST SRR T3 T TS 3 SR WK ST B, 39 Fd 2
1. T SATTRE T AT

S A

3. TEANICTS: (FEFRT) |97 2T

4. FTTUTTE ST {3

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5052124302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5052124302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 5052124303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRV 80 ST TG 3 e 50 3 7, . 3T (ST o0 0 9 e B el § A

| 38 7 s 2 e

), T T 1V ST & 3T 2 e

3, T2 T AT 5 GO & S & e

4, S TS ST 990 7] T =

Options:

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 5052124303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5052124304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5052124304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5052124305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5052124305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5052124306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FrATerEad o 19 97 f9ey, um-ﬂjﬁﬁl%%@m%?
| U1 WIHUT T TS |

: E-ﬂﬂﬂmﬂmt

3. Temeaiefan =t UTST ST T SR F o  F
4. SATHTIUTeR HT=ATSAT T 19T

I~

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5052124306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FrTeTRaa = i | f9ehed, T3-Ud Taee 3 o Jemes 82
| UTZT FTHUT 3T SIS R

2. STTHT S o =apll

3. Tomefofart =t ura weEft T i e o form e
4. ST FT=TTT =7 fraqon)

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5052124307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 5052124307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2
3.3

4.4

Question Number : 146 Question Id : 5052124308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 5052124308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 5052124309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 5052124309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5052124310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 5052124310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Number : 149 Question Id : 5052124311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5052124311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5052124312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5052124312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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